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1) Which among the following is concerned with family planning?

A) National family welfare Program

B) Post-partum Program

C) Sterilization Program

D) All the above

2) If any person demands dowry directly or indirectly from the parents or
guardians of a bride, he/she shall be punishable with imprisonment for a term
not less than

A) 1 month B) 3 months

C) 6 months D) 12 months

3) The root cause of gender inequality in Indian society lies in

A) patriarchy system B) manusmriti

C) religion D) all the above
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4) The Dowry Prohibition Act extends to the whole India excepts to the state of
Jammu and Kashmir.

A) True B) False

5) The word gender refers to the following differences.

A) Social B) Cultural

C) Biological D) All the above

6) The act of treating a person usually a women unfairly because of their sex is
known as gender discrimination.

A) True B) False

7) Society is system of what that exists among the Individuals of the group.

A) Group B) Relationship

C) Family D) Community

8) Social development is about putting people at which position of development.

A) High B) Bottom

C) Center D) Middle

9) National Institute of Rural Development and Panchayati Raj is located at which
city

A) Hyderabad B) New Delhi

C) Patna D) Gwalior

10) How many are the total number of sustainable development goals under UNDP.

A) 15 B) 17

C) 19 D) 20
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11) Programs under sustainable development of UNDP are

A) Equator Initiative B) Ocean Action Hub

C) Business call to Action D) All the Above

12) Due to globalization many MNCs have increased their investments in India

A) True B) False

13) Which of the following are poverty alleviation program

A) IRDP B) NREP

C) TRYSEM D) All the above

14) Social development goals are decent work and economic growth, Responsible
consumption and production, Peace and justice strong Institutions

A) True B) False

15) The Impact of Globalization are Nuclear families, old age vulnerability,
Pervasive mixed etc.

A) True B) False

16)  Karmaveer Bhaurao Patil worked at Kirloskar factory before starting education
movement.

A) True B) False

17) In 1947 Shahu Maharaj passed punar vivah kavada.

A) True B) False

18) In 1902 Shahu Maharaj started following percentage of reservation for
backward people in his state.

A) 30 B) 40

C) 50 D) 60
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19) Shahu Maharaj passed Inter Cast Marriage rule in the year

A) 1916 B) 1917

C) 1918 D) 1919

20)  Which of the following books are not written by Dr. B.R. Ambedkar

A) Annihilation of caste B) Federation v/s Freedom

C) The Untouchables D) My experiments with Truth

21) Gramille Astin described the Indian Constitution drafted by Dr.B.R. Ambedkar
as ‘First and for most a social document’.

A) True B) False

22) ‘Equal pay for equal work’ irrespective of the sex in India brought by
Dr. B. R. Ambedkar.

A) True B) False

23) Which day is annually celebrated as a Manusmriti Day.

A) 6th December B) 25th December

C) 14th April D) 29th August

24) Unemployment is the ratio of the employed persons to the total

A) Labour force B) Work force

C) Employee force D) Employer force

25) In which year Dr. B. R. Ambedkar converted to Buddhism.

A) 1953 B) 1954

C) 1955 D) 1956
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26) Raja Ram-Mohan Roy demanded property inheritance right for women.

A) True B) False

27) Mahatma Phule established which of the following Institution.

A) Girls school B) Orphanage

C) Widow home D) All the above

28) Population explosion caused as a result of

A) increased birth rate B) decreased infant mortality rate

C) improved life expectancy D) all the above

29) Population explosion in India did not affect

A) unemployment B) poverty

C) pollution D) politics

30) The Family planning program was started in the year

A) 1950 B) 1951

C) 1952 D) 1953

31) Effects of Population explosion to Indian economy are

A) effects on per capital income B) problems of capital formation

C) food security D) all the above

32) Who is the first miss universe of India?

A) Vidya Balan B) Sushmita Sen

C) Yukta Mukhi D) Aishwarya Rai

33) When did constitution of  India come into effect?

A) 1950 B) 1857

C) 1947 D) 1991
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34) Who is called as ‘Flying Sikh’?

A) Salim Ali B) Kapil Dev

C) Yo Yo Honey Singh D) Milkha Singh

35) Unemployment in India has following forms

A) open and chronic unemployment B) seasonal unemployment

C) disguised unemployment D) all the above

36) Which among the following is the highest civil award of India?

A) Padma Shri B) Arjun Award

C) Padma Bhushan D) Bharat Ratna

37) Which is the first Indian feature film produced by Dadasaheb Phalake?

A) Sant Tukaram B) Alam Ara

C) Raja Harishchandra D) Pinjara

38) Sundarlal Bahuguna is associated with________.

A) Silent Valley Movement B) Chipko Movement

C) Narmda Bachao Andolan D) Bhudan Movement

39) The classical dance Kathakali belongs to _______ state

A) Kerala B) Assam

C) Karnataka D) Rajasthan

40) Which of the following is output device of a computer?

A) Mouse B) Keyboard

C) Printer D) Scanner
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41) Which of the following is smallest in terms of memory size?

A) Kilobyte (KB) B) Terabyte (TB)

C) Megabyte (MB) D) Gigabyte (GB)

42) Who is the regulator of telecom sector?

A) RBI B) TRAI

C) SIAM D) IRDAI

43) The World Environment Day is celebrated on

A) April 7 B) August 6

C) June 5 D) June 16

44) Which is the National Bird of India?

A) Peacock B) Parrot

C) Eagle D) Cock

45) 20th August is celebrated as

A) Earth Day B) Sadbhavana Divas

C) No Tobacco Day D) None of these

46) Causes of unemployment are

A) Joint family system B) In-appropriate Technology

C) High population growth D) All the above

47) Who had written the National Anthem of India?

A) Sarojini Naidu B) Rabindranath Tagore

C) Amartya Sen D) Mahatma Gandhi
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48) Which is the smallest state in India (by area)?

A) Manipur B) West Bengal

C) Goa D) Kerala

49) Which is the longest river in India?

A) Ganga B) Yamuna

C) Godavari D) Krishna

50) BSE stands for_________.

A) Banking Stock Exchange B) Bangalore Stock Exchange

C) Bombay Stock Exchange D) Belgaum Stock Exchange

51) FIND ODD MAN OUT:

A) U.P. B) J & K

C) Tamil Nadu D) Chandigarh

52) FIND ODD MAN OUT:

A) Japan B) London

C) China D) New Zealand

53) FIND ODD MAN OUT:

A) Shakuni B) Vibhishan

C) Karna D) Sahadev

54) Ram purchased a cell phone for Rs.8000.The value of cell phone is decreasing
@8% p.a. Then its value after three years is

A) 6400.22 B) 6300.50

C) 6229.50 D) 6743.80
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55) The average age of 8 boys is 15 yrs and 7 girls is 20 yrs in a class. Find the
average age of whole class?

A) 17 B) 17.33

C) 18 D) 16.30

56) Mean of first ten even numbers is:

A) 13 B) 20

C) 15 D) 11

57) ‘Garibi Hatao’ slogan was adopted during which five year plan.

A) 3 B) 4

C) 5 D) 6

58) In Raj’s Family, there are five members including him. Their ages are 8, 10,
18,48 and 51 respectively. Find Average age of his family?

A) 27.0 B) 27.4

C) 27.2 D) 28.0

59) Vivek Scored 30, 34, 28, 20, 52 and 46 runs respectively in six innings. What
is his average score?

A) 34 B) 35

C) 36 D) 38

60) Choose the correct alternative to complete the sentence. I ______a new bike
yesterday.

A) will buy B) bought

C) was bought D) had bought

61) Choose the correct alternative to complete the sentence. Let’s meet again
next________

A) week B) wick

C) Weak D) weik
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62) Choose the correct alternative to complete the sentence. My brother has
three________.

A) children B) childrens

C) childs D) children’s

63) Choose the correct alternative to complete the sentence. I would spend my
holidays in Kashmir if I ________enough money.

A) would have B) have had

C) had D) have

64) Choose the correct alternative to complete the sentence. He say he has been
robbed. He can’t find his wallet___________.

A) not anywhere B) nowhere

C) anywhere D) somewhere

65) Choose the correct sentence.

A) Give the Sir book B) Give the book to Sir

C) Give to sir the book D) Give the sir to book

66) Choose the correct sentence.

A) Rani usually eats fast B) Usually Rani eats fast

C) Rani eats fast usually D) Rani usually fast eats

67) Choose the correct synonym. Research

A) find B) angle

C) investigate D) resend

68) The maximum number of the poor people are living in which state of India.

A) Utter Pradesh B) Madhya Pradesh

C) Bhihar D) Odisha



ENT - 20

-11-

69) Choose the correct synonym. Kind

A) nice B) wild

C) funny D) best

70) Choose the correct antonym. Build

A) make B) start

C) destroy D) create

71) Choose the correct antonym. Lead

A) direct B) help

C) follow D) manage

72) Choose the correct alternative. As soon as she finished one project, she
________working on the next.

A) would start B) will start

C) started D) was started

73) Choose the correct alternative. Many developing countries are burdened by
________foreign debt.

A) exxecesive B) excessive

C) exccessive D) execcive

74) Passengers __________not smoke on the bus.

A) should B) could

C) can D) must

75) It is better to tell ________truth.

A) a B)  an

C) the D) none of these
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76) Choose the correct alternative to fill in the blank in the following sentences.
It _______ continuously since 6 O’clock.

A) is raining B) have rained

C) had been raining D) has been raining

77) Choose the correct alternative to fill in the blank in the following sentence. He
came _______ than I expected

A) later B) latter

C) letter D) last

78) Choose the correct alternative to fill in the blank in the following sentence.
Unless you work _______ you will fail.

A) hardly B) hard

C) hard and fast D) hardly and fastly

79) Which efforts Government of India under took to eradicate poverty.

A) creating employment oppurtunities

B) development of agriculture

C) fair market price and transportation

D) all the above

80) Choose the correct alternative to fill in the blank in the following sentences.
He is proud _______ his powers.

A) the B) on

C) of D)  at

81) Choose the correct antonym. Tragedy

A) humorous B) fortune

C) calamity D) comedy
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82) Choose the correct antonym Start

A) out set B) start-up

C) end D) origin

83) Choose the correct spelling.

A) Guidance B) Guidence

C) Gaidance D) Gaidence

84) Choose the correct spelling.

A) Enviranment B) Environment

C) Envirenment D) Environmant

85) Choose the correct spelling.

A) Hypocrisy B) Hypocrasy

C) Hipocryen D) Hippocisy

86) Select the correct plural form Girl

A) Girl’s B) Girls

C) Girles D) Girlese

87) Social welfare covers only Welfare of SC, ST and OBC community.

A) True B) False

88) The primary role of Social worker is

A) building rapport

B) providing support system

C) acting as a resource

D) caring emotional and mental needs
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89) Which of the following is a secondary social group.

A) nuclear family B) peer group

C) association D)  joint family

90) The dowry prohibition Act came into existence in which year

A) 1960 B) 1961

C) 1962 D) 1963

91) In social case work, Interview is an important.

A) Tool B) Method

C) Technique D) All the above

92) Who has given title ‘Raja’ to Ram Mohan Roy.

A) Viceroy of Bengal B) People of India

C) Mughal Emperor D) Aurobindo Ghosh

93)  According to Dhananjay Keer, Mahatma Phule was bestowed with the title of

Mahatma by another Social Reformer.

A) Rajashri Shahu Maharaj B) Usman Shaikh

C) Vitthalrao Krishnaji Vandekar D) Lord Lytton

94) Raja Ram Mohan Roy published noticeable magazines like

A) Brahmonical Magazine B) Sambad Kaumudi

C) Mirat-ul-Akbar D) All the above

95) Though Mahatma Phule was Social Activist, he performed role as

A) merchant B) cultivator

C) contractor D) all the above
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96) Vitthal Ramaji Shinde started night school for

A) Labours B) Untouchables

C) Muslims D) All the above

97) In 1917 Vitthal Ramaji Shinde succeeded in passing a resolution condemning
the practice of untouchability

A) Indian Sociological Conference B) Indian National Congress

C) Depressed class mission D) All the above

98) Maharshi Karve was awarded by which of the following award.

A) Padma Vibhushan B) Bharat Ratna

C) LL.D D) All the above

99) Who established the widow marriage association in 1893.

A) Mahatma Phule B)  Maharshi Karve

C) Karmaveer Bhahurao Patil D)  Dr. B.R. Ambedkar

100) The people of Maharashtra honored him with the sobriquet Karmaveer

A) King of Education B) King of Earn and Learn

C) King of Actions D) King of School
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Rough Work


